TotalMarks:.... Class:10th Time:....
Test:Biology

Attempt ........ questions

1 The unit of Androceium is:
(a) Gametes (b) Pollen grains
(c) Anther (d) Staments

2 Vegetative propagation in mint takes place by:

(a) Rhizome (b) Corms
(c) Leaves (d) Suckers
3 Diploid (2n) is:
(a) Eggcell (b) Sperm cell
(c) Zygote (d) Endosperm

4 The cell results by combining sperm & ovum:
(a) nuceleus (b) Zygote

(c) Genes (d) Chromosomes

5 In which type of the following reproduction
ways, buds are formed.

(a) Regeneration (b) Fragmentation
(c¢) Budding (d) Binary fission

® Onion and lily reproduce by:
(a) Bulbs (b) Corms

(c) Rhizomes (d) StemTubers
7 In which of following animal groups, external
fertilization takes place.
(a) Reptiles (b) Amphibians
(c) Birds (d) Mammals

8 Sperms are produced in mammals:

(a) Vas deferens (b) Sperm duct

(c) Seminiferous tubules (d) collecting ducts
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